
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

10, 757 × ________ = 10757 7, 957 × ________ = 795.7

5, 296 × ________ = 5296 4, 13 × ________ = 41.3

8, 381 × ________ = 83.81 1, 7 × ________ = 170

1, 218 × ________ = 121.8 3, 943 × ________ = 3943

5, 892 × ________ = 58.92 7, 802 × ________ = 7802

2, 479 × ________ = 2479 10, 017 × ________ = 1001.7

6, 84 × ________ = 6840 5, 002 × ________ = 500.2

9, 995 × ________ = 9995 10, 396 × ________ = 103.96

2, 51 × ________ = 2510 2, 893 × ________ = 289.3

8, 888 × ________ = 88.88 8, 789 × ________ = 878.9
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